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History.  

research 
 English. 

 foreign  
languages. 

studying abroad. 

good books. 

job applications. 

life, the universe, and everything 

Come to talk about:  



 Meaningful and creative title  

 

  Typical header format  

 

  Do not exceed word limit! 

 

  Should have footnotes + bibliography 

 

  The more creative your thesis, the better  

 

 



Presentation Requirements  

Content  Response Paper 

Style Research symposium  

Length (PPT) 5-15 slides 

Length (time)  10-15 minutes  

Words FEW 

Media  MANY 

Questions for audience?  Yes! 

Questions from audience?  Yes! 





Vocabulary Quiz! 

1. Please write the 

words that I say on 

a sheet of paper.  

 

2. I will then give 

you 10 minutes to 

write their 

definitions. Time 

is short, so be 

concise! 



Avoid tunnel vision within your 
theses, your topics, your fields, 
your research, and your lives. 



 Simple and presumably incorrect 
argument: Different societies have 
advanced at different rates because 

of genetic differences among the 
world’s peoples.  

 
 

Complex and presumably correct 
argument:  Different societies have 
advanced at different rates because 

of complex interactions among 
geography, climate, and biodiversity, 
which determine different rates of 
agricultural development, cross-

cultural communication, and 
ultimately technological 

advancement.  

 
 



Not through conscious experimentation or even ingenuity 

How did humans domesticate the first crops more than 
10,000 years ago? 



By imposing a selection pressure, just as any animal would. 

How did humans domesticate the first crops more than 
10,000 years ago? 



Hypothesis: The first human “farms” 
were in latrines and spittoons.   



Humans are part of a larger historical system 

rather than always omnipotent actors . 

 



Agriculture sprang up quickly in Fertile 
Crescent (by 6000 B.C.) but slowly in 

Mesoamerica (by 3500 B.C.) and never in 
Europe, Africa, or Australia 



Why did southern but not northern 
Africa fail to domesticate sorghum?  



Why did Europe but not Mesopotamia fail to 
domesticate wheat?  



Indians? 

Apples? 



Indians? 

Apples? 



 

People won’t change if:  

Domestication = Lifestyle shift  

Yields from 
hunting and 

gathering  

Yields from 
farming 



200,000 
wild plants  

<10,000 
eaten by 
humans 

Only 12 crops 
represent 80% 
of all 
agricultural 
production 
today 

Wheat  
Corn 
Rice  
Barley 
Manioc 
Sorghum 
Soybean 
Potato 
Sweet potato 
Sugarcane  
Sugar beet  
Banana 



2 of these (wheat, barley) natively inhabit the Fertile Crescent.  

Cereals 

Emmer 
wheat 

Einkorn 
wheat 

Barley 

Pulses 

Lentil 

Pea 

Chickpea 

Bitter 
vetch 

Fiber 

Flax 

32 of 56 large-
seed grasses 
also native to 

Fertile 
Crescent  



 

Why? (5 factors) 
  



 

Mediterranean climate 
  



 

Greatest climatic variation 
  

Between seasons 
  

Between years 
  



 

Altitude variation 
  



 
4 important domesticatable animals native to Fertile Crescent  

(goat, sheep, pig, cow) 
 

vs.  
 

2 in Mesoamerica  
(turkey, dog) 

 
  



Poorer prospects for hunter-gatherers? 



 

Always look at the factors of the whole system 

together (it’s not the apples or the Indians, but the 

whole spread of plants available)  

 



~9,000 miles 

~3,000 miles 

American major axis north-south; Eurasian east-west 



Similar climatic conditions across latitude =  
Easy transfer of crops and animals 
 
 
 
Different climatic conditions across longitude= 
Difficult transfer of crops and animals   



Example: Fertile Crescent cereals found in 
both Europe and Japan by 1 C.E. (about 6000 
years after production) 
 
But llamas domesticated in the Andes never 
spread to Mexico  
 
Turkeys domesticated in Mexico never spread 
to the Andes  



 

Sometimes the unconventional angle 
makes the most sense (geography to 
answer an anthropological problem)  

 



Humans are part of a larger historical system rather 
than always omnipotent actors (early domestication)  
 
Always look at the factors of the whole system 
together (it’s not the apples or the Indians, but the 
whole spread of plants available)  
 
Sometimes the unconventional angle makes the most 
sense (geography to answer an anthropological 
problem)  
 
 







“The most dramatic and lasting influences on the 
vocabulary, grammar, and pronunciation of the 
English language spawned from invasions and 

acts of war instead of peaceful cultural exchange 
and advancement.” 


